39885 ** DRAWING PRINT SCALE CHECK - THIS LINE SHOULD MEASURE 10 3/8" LONG ** 39885

PSP T [ ]

USE FASTENER GRADES SPECIFIED

USE STRAIGHT EDGE OVER HOOK

AND BUMPER MOUNT FACES. IF HOOK
PROTRUDES FORWARD OF MOUNT FACES,
INSTALL WASHERS ON MOUNT

BOLTS, BETWEEN BUMPER AND TRUCK

DRILL AND INSTALL ADDITIONAL

1/2" GR.8 BOLTS NUTS AND WASHERS
(NOT SUPPLIED)

FOR IMPROVED TOWING
CONNECTION (HIWAY)

1/2" GR.8 WASHER
1/2" NC GR. C STOVER NUT
TYP. (6]

A a5
H [ SN (SUPPLIED)
\! q

e
(il
i,
g

4

- GRS 13/2" X(] 1/2" GR. 8)C(§\PSCREV\§ \ B 6 WAS
——~  1/2" GR. 8 WASHER (HIWAY UNIT) (SUPPLIED 5/8" GRADE 8 WASHER
D30PPLED) © 5/8'NC GR.C STOVER NUT
HEAVY DUTY - USE 3/4" GR 8 TYP. (2)
BOLTS, NUTS AND WASHERS (SUPPLIED)
TYP. (2) (NOT SUPPLIED) 1/2'NC X 13/4" GR. 8 BOLT *EOR PROPER LOAD
1/2" GR.8 PLATED WASHER TRANSFER TIGHTEN NUTS
TYP. (6) PLACES TO 210 FT/LB (DRY)
5/8 NC X 3 1/2" GR. 8 BOLT (SUPPLIED)
5/8" GR.8 WASHER
TYP. (2 FOR HEAVY DUTY
. (SUPPLIED TOW HITCH ONLY
THIS FACE VP, (2)
VERTICAL '
MAGNUM TRAILER FRACTIONS CHART S MERMSE SPECIHED | NISTALL "17195 BUMPER ON 2004 PETERBILT 379 SFA
& ]/32 .03]25 9/32 28]25 ]7/32 53]25 25/32 78]25 FRA(T:?I.OE;?NCESA?IRGELES CURRENT CUSTOMER STOCK NUMBER VENDOR NUMBER WEIGHT - LB.
EQUIPMENTINC. | 116 0625 | 508, 31255 | 7018, 3822, | 1318 8135 RACTIONS  ANcLe 422
1/8 .125 3/8 .375 5 8 .625 7/8 .875 DRAWN BY DRAWN DATE CHECKED BY CHECKED DATE REV.

/ XX" XXX
5/32 15625 | 13/32 40625 | 21/32 65625 | 29/32 90625 0.03" X . WO# |
Y3 Dats | 1632 leass | 2373 Ters | 1k sests S —, Tk AL el LB
174 25 17275 5 374" 75 DIMENSIONS TO SHARP POINTS 1:12 BNS AA-39885 1




	INSTALL
	Drawing View1
	Drawing View2


